2764 + 12752 =
Round 7636 to the nearest 10

58 + 10 =
~__=700+160+9
763 x4 =

862 —100 =

Find 1% of 350 =

Write 101 in Roman Numerals Write 125 in Roman Numerals

8763 + 17653 =
Round 9809 to the nearest 10

580 + 1000 =
____=1000+3400+80+8
873 x4 =

1275-140 =

Find 5% of 350 =

8
—Xx 4 =
12

0.98x7 =
12644 + 17753 =

Round 12899 to the nearest
10 =

58 +1000 =
~__=3000+2700+140+7
1275 x4 =

2724 - 1500 =

Find 6% of 350 =

Write 1050 in Roman
Numerals =



Sx4="2=22
5 5 5
0.72x 7 = 5.04
2764 + 12752 = 15516

Round 7636 to the nearest 10
= 7640

58 +10=5.8

869 =700+ 160 +9
763 x4 = 3052

862 —100 =762
Find 1% of 350 =3.5

Write 101 in Roman Numerals
= Cl

Sy4=2to33
7 7 7
0.81x7=5.67

8763 + 17653 = 26416

Round 9809 to the nearest 10
=9810

580 + 1000 = 0.58

4488 = 1000 + 3400+ 80 + 8
873 x4 =3492

1275 —-140=1135

Find 5% of 350 =17.5

Write 125 in Roman Numerals
= CXXV

8 32 8 2
—x4="=2—_=2=
12 12 12 3

0.98x 7 =6.86
12644 + 17753 = 30397

Round 12899 to the nearest
10 = 12900

58 + 1000 = 0.058

5847 =3000 + 2700 + 140 + 7
1275 x4 =5100

2724 —1500 = 1224

Find 6% of 350 = 21

Write 1050 in Roman
Numerals = ML



